Réalise ces opérations :

7+ 1=

7-1=

3+8-=

3-8=NON

7x1=

Bh+4-=

5-4=

3x8-=

8+10-=

8 - 10 = NON

Bx4-=

4 +5H:c

4-5=NON

8x 10 =

O+2-=

6+9-=

9-2-=

4 x5-=

O9x2-=

6 -9 =NON

10+7=

O+3=

10-7-=

6x9-=

10x 7=

0 -3 =NON

1+6=

1-6=NON

Ox 3=

2+0-=

2-0-=

1x6-=

2x0-=




Réalise ces opérations :
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Réalise ces opérations :

1+2=

B+90-=

3+5=

1x2-=

2+9=

Bbx9-=

O+6:=

3xb-=

1+3=

2XxX9-=

9+10-=

Ox6-=

4+ 8=

1x3-=

h+4-:

9x10=

10+7 =

4 x 8 =

Hb+1:=

Bbx4:=

10x 7 =

bx1-=




Réalise ces opérations :

4 +1-=

8 +8 =

6 +4 =

5+8=

4 +7 =

4 + 2 =

5 +90-=

7 +7 =

8+ 3=

6+6-=

8+0=
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Réalise ces opérations :

6+0-=

10+7 =

8+3-=

6 x0-=

7+ 6=

10x7 =

6+6=

8 x 3=

6+1=

7 xX6-=

7+ 8=

6x6-=

6 +4-=

6x1=

10+2 =

/7 x 8=

8+D-=

6 x4-=

10 + 4 =

10 x 2 =

8 xb-=

10 x 4 =




Réalise ces opérations :

2+0:= 2-0-= 2 x0 =
6+7-= 6 - 7=NON 6x7 =
4 + 3= 4 - 3= 4 x 3=
3+6= 3 -6 =NON 3x6=
2+6-= 2 -6 = NON 2x6-=
5+1-= 5b-1-= 5x1-=
3+8= 3-8=NON 3x8-=
2+4-= 2 -4 =NON 2x4-=
6+2-= 6-2-= 6x2-=
4 +5-= 4 -5 =NON 4 xb-=
6+4-= 6-4-: 6x4-=




